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As long as you do not run out of copies before completing this process, you will know that you have a

sufficient number to go around.

We sometimes solve number problems almost without realizing it. ( (D ) For example, suppose you are conducting
a meeting and you want to ensure that everyone there has a copy of the agenda. ( @ ) You can deal with this by
labelling each copy of the handout in turn with the initials of each of those present. ( @ ) You have then solved
this problem without resorting to arithmetic and without explicit counting. ( @ ) There are numbers at work for us
here all the same and they allow precise comparison of one collection with another, even though the members that
make up the collections could have entirely different characters, as is the case here, where one set is a collection of
people, while the other consists of pieces of paper. ( & ) What numbers allow us to do is to compare the relative

size of one set with another.

*arithmetic: 2+~
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‘Product' is often used as an umbrella term for either a physical good or service, and is something that will provide
value and/or satisfaction to its user or consumer in the marketplace. Many products purchased today will

When going to a restaurant for a meal you receive the

physical 'goods' of food and drinks, prepared by chefs and delivered to you by waiters that are the service elements.
Some products offered for sale are mainly physical goods, but they are usually delivered to the purchaser through
services such as a retail outlet or an online platform. Some product offers are nearer to pure service, such as
accommodation in hotels. But. they also have important physical aspects such as beds, facilities such as gym or

swimming pool, and peripheral goods such as hotel toiletries.

@ transform from a physical ‘good’ to pure ‘service’

@ lie somewhere between a physical good and a service offering
@ provide a feeling of reassurance of belonging

@ be developed in a timely and cost-effective manner

® provide a service on online platform
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[Solution] O] 22 HHESIA OFF, MASHA 2™ =2 ‘you have then solved this problem~ E£0| <
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[Comprehension] As long as you do not run out of copies before completing this process, you will know that you

have a sufficient number to go around.
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We sometimes solve number problems almost without realizing it.
Qs RAY HAE BHE LOMAZ|X] 2 HZE shAotr |z Sttty LI (Genearl)

( @ ) For example, suppose you are conducting a meeting and you want to ensure that everyone there has a copy

of the agenda. - 0] st FAHQI OAI7F Ll_D UL, (Specific)

I8 SO, U7t Bloig TSI U, 77| Y= BE MBSOl FHU HEt SASS 1 & UHB Sas)
| BRIE BN Y HYLICL U BEE AY0) U= BE AMRS0| 24
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( @) You can deal with this by labelling each copy of the handout in turn with the initials of each of those present.

- OIA thiss BE ARRS0| BAIBS JHY & WHB shs HUHLUIDL 2420 AFSQ| 0189 X 0|UMS TN, X2 H3o
2N 0128 AT 4 YUCIAT SLICH SHZSHE Y (1)0] HIZ 22ie] ZAS0 AZSQ| AU 0USS 7| 212 & 4 g
Lick.
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( ® ) You have then solved this problem without resorting to arithmetic and without explicit counting. ( @ )

- 210 Lhob FAIKQ AMGP0I ZHIE SHERCHtD HLICH oA o|LET M2 0| EME MBS N0| A=rhvets WS
SoiM LT YZS ARSIAIE EUCH 20| AZHEO| =H SEELCE AL, oM FOT 22| /IXIE LTUHEES ol&. 28 2%
2 Yo ETL NAAYA HZEUL, AL this Al EX7L RAALEZ MQAE ofF 7t UZ2 s A2 2= 3L 48 Ao
U= N T A0 2A0FSH, FOl 2A0FSHEF L AYLICE HMZ 4HS 2 POl HIZO0| 28%Lt ZUSULE. YEH2 3HYLCE 1
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You can deal with this by labelling each copy of the handout in turn with the initials of ecah of those present.
(1) 22 2AI20| O|LISS EACEM M7| AIRKE (2H &7 1) -)
As long as you do not run out of copies before completing this process, you will know that you have a sufficient
number to go around. (2) J%A A& MOl L7kM, SAEZ0| 0] 2FH0| EL7|1H0| HOiX[X] %™, H7| U= ASHA
T 0 28 XXt ASE ¢ + US (BHGHZ 21H2, 2HQ dHB) -)
You have then solved this problem without resorting to arithmetic and without explicit counting.

(3) then sovled this problem, 2t°| 1PH0| 2H|2| sHZ0|YCOZE ZHIZ SHAMCIZID AU,

Ol2t= 0] EEC= XHARA AZEOEULE 1322 #M2 SES HUS I FEO0| 3H0| == N0| HEYULL 4HO=Z ofA
E[H =X SE0 AN XSHL EHTE E7A ==,

You have then solved this problem without resorting to arithmetic and without explicit counting. (22 sHZZCIZtT
%1g) - As long as you do not run out of copies before completing this process, you will know that you have a

sufficient number to go around. (2O & MZRUAS? 0[0| Ct 2XHZ H=El.)

2t= XX 2HFHO| YZLICh o[o| %%3._* A2 FRACRNE 2ME SHZ0| Y AFW=H, 671M you?t & copiesS
s = oro

M2 UAS OlR7F gsUH. d222 0f SEOEL & + UM, YEH2 3HO0| HEELIC |
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When going to a restaurant for a meal you receive the physical 'goods' of food and drinks, prepared by chefs and
delivered to you by waiters that are the service elements. Some products offered for sale are mainly physical goods, but

they are usually delivered to the purchaser through services such as a retail outlet or an online platform.
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